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HES ® T4 CSRFJ CSRFJ CSRFJ CSRFJ CSRFJ CSRFJ CSRFJ &3 JE(T &
5 & AR FkEkdk Fokdkk kdkdkk kdkdkk FkEkdk Fkdkkk kkdkk 35 1 P
13 28y #)=) Fdokkk kkkdok ddckkk kkddkk dadkkkk kkdkk dkkkk 35 1 P
16 4V | FkEkdk Fkdkk kdkdkk kdkEkk FkEkdk Fkdkk k¥kdkk 35 1 P
24 E=EFE v Fkkdck Fokddkk kkdckk kdkkk FkEkdk Fkdkk kkdkk 35 1 P
37 JNE S dokokskok kokskokk skokskokok kkkokk kkkkk kkkkk kkkkk 35 1 P
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[No. ®F K4 03 04 08 09 15 17 18 JBHTL|

f& H Cha Cha

5 & FIR 1 1 5 2 4 2 1 1.0
13 ZE #REF 2 2 4 1 3 4 2 2.0
16 A7 EXR 5 3 1 3 1 3 4 3.0
24 | =G 4 4 3 5 5 5 3 5.0
37 /NE A 3 5 2 4 2 1 5 4.0
2 B Samba

5 & FIR 2 1 4 2 4 2 1 2.0
13 ZE R 1 2 5 1 1 4 2 1.0
16 A7 ®EXR 5 5 1 4 3 3 5 4.0
24 | =G 4 3 2 5 5 5 3 5.0
37 /NE A 3 4 3 3 2 1 4 3.0
2 B Rumba

5 & FIR 2 1 4 2 2 2 1 2.0
13 ZE R 1 2 2 1 1 4 2 1.0
16 A7 EX 4 3 1 5 4 3 4 4.0
24 | =G W 5 4 5 4 5 5 3 5.0
37 /NE A 3 5 3 3 3 1 5 3.0
2 B Paso Doble

5 & FIR 1 1 5 1 1 2 1 1.0
13 ZE R 2 2 4 2 2 4 2 2.0
16 A7 EX 4 4 1 5 4 3 5 4.0
24 | EfE 5 5 3 4 5 5 4 5.0
37 /NE A 3 3 2 3 3 1 3 3.0
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= H Jive

5 & FnyR 2 1 2 3 5 2 3 2.0
13 ZE R 1 2 3 2 2 4 4 3.0
16 A7 EXR 4 3 1 4 3 3 5 4.0
24 =G 1 5 4 5 5 4 5 2 5.0
37 /NE A 3 5 4 1 1 1 1 1.0
A RAESR

No. & F K 4 C S R p J B AR

5 & FnyR 1 2 2 1 2 8.0 1.0

13 & R 2 1 1 2 3 9.0 2.0

16 A7 EXR 3 4 4 4 4 19.0 4.0

24 =G 1 5 5 5 5 5 250 5.0

37 /NE A 4 3 3 3 1 14.0 3.0
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16 AV6 ER AV L HANT
24 e fom = YA
37 /NEs ShiARE AR Rk 3T
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